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ID Titel | Interpret | Hauptinterpret | Interpret | Urheber | Funktion | Industrie-Nummer | NUMMER | NAME | JAHR Unligue
2.904.968 %3\1,‘111?; Bernstein, false true false (‘E/SVIES ?;’S?ﬁgrlfef) 9 %Gv’\ll‘ifga 29.430
2.904.969 %‘3\1,‘113; Blade, false true false (‘ggg ?Sgﬁﬁgiﬁe% 9 %‘3\1,‘1135 33.452
2.904.970 %3\1,‘.111?; Gg;fg false true true (‘Q’% ?gggﬁgiﬁe% 9 %‘3\1,‘.111?; 125.052
2.904.971 23\1,‘.111?; G‘;}gfr‘gs' false true false (‘]’3"% ?Sgg:ﬁgrﬁ% 9 %3\1,‘.111?; 132.161
2.904.972 %31,‘113; M%hrf;“' false true false (‘]’3"153 ?g’gg:ﬁgrlfi) 9 zill‘if; 238.704
2.904.973 %31;?; f}%‘iﬁ‘ﬁ; false true false (‘1/3\/1511; ?Sgg'ﬁgrﬁ% 9 %31;?; 295.480
2.904.974 %%111111?; V%gﬁ?c’e false true false (‘g}%‘; ?Sgﬁ:ﬁgrﬁi) 9 %?/\111111?; 306.607
e e B B = NP = v
2.904.976 23\1,‘111?; V‘;igl:r true true false (‘]’3‘[&3 193852)%/3233;) 9 23\111113; 379.699




